BT 5 1R T ISEERET (B3 )1 A
S— ILRIE# S R

20244 38 21H

A\ BEARF VT2 K—
K boA

R
e

(

—

Sl o
REE R

b IF 35 ) || R 2K hig 55

ol i L 0 1D th @
o=IVRb 2= $15,367m

%Lﬁuin. BRESH N 7 b2

: %

{ [ |
&
=R
= REnE
pz]

Frara i e f; 8 % 3
7 = = < BEE= N
RERR )
\ . =
s Ve = —JVRb 2= §15,367m -
s A I |/ e TR e Wiy T S
‘ Sleas i sl R I R e = 30
________ o L R i g e
P A 190m (7T 200m F e 300m JENSee 4C ~
. \\‘ A rw\\»:m\ ‘ ‘T_:-]":: L Ry
T e T [ BETR
I R | 3T
g=cI=il) 1A OlEHIG ) A )i FFﬁﬂ;Li}'l,

IRTE(LE




